Ph¥oFI5

REERR

A10143 | N\ —FB/SVF

M
e Ac
SGPERDNKRERXR/N K, =
@ [A10139FR/N> K| &KW RM AP E VB, &
@200ALLEI3/3> RESICHRIR & 85 LTV ET, B
BREIND - XL,
mEI—F A10143 N—FKBNUFK BT (mm)
PALZ | B B | BUOR | oo pmmps FEfFRIL B A B
0011 15A Va 2.7 23 | 25 M 6X20 | 26 6 350
0026 20A % 271.2 23 | 25 M 6X20 | 26 6 300
0045 25A 1 34.0 23 | 256 | M 6X20 | 26 6 250
0050 32A 1% 427 23 | 25 M 8X25 | 26 6 170
0064 40A 1% 48.6 23 | 25 M 8x25 | 26 6 150
0079 50A 2 60.5 23 | 25 M 8x25 | 26 6 150
0083 65A 2% 76.3 26 | 25 M10x30 | 26 6 150
0098 80A 3 89.1 26 | 26 | M10X30 | 26 6 130
0115 90A 3% 101.6 26 | 256 | M10X30 | 26 6 130
0120 100A 4 114.3 26 | 26 | M10X30 | 26 6 90
0134 125A 5 139.8 45 | 32 M12x45 | 36 1 40
0149 150A 6 165.2 45 | 32 M12x45 | 36 1 40
0153 200A 8 216.3 6.0 | 50 M16x50 | 55 15
0168 250A 10 267.4 6.0 | 50 | M16x50 | 55 | 15
0172 300A 12 318.5 6.0 | 50 | M16X50 | 55 | 15
ERFC L TEERERD
REZBELHIETD
TTRBLES W,
@b
BhlEEEAT
. X3 K3 > o »
A11211 | EXBHoEN—FB/IIVF
SGPERNEXR/NN K,
@ [A10220E 3 > E MmN R L) IRMPEVES,
@ EREN D - ZE L,
W @BEI—-F AN211 EXHLZ/N—FRBNAVF B (mm)
/ ! 5 3 -
0018 15A iz 2.7 23 | 25 | M 6X25 | 26 6
y. 0022 20A % 271.2 23 | 25 | M 6X25 | 26 6
. = 0037 25A 1 34.0 23 | 25 | M 6X25 | 26 6
s 4 0041 32A 1% 427 | 23| 25 | M8X25 | 26 | 6
' 0056 40A 1% 48.6 23 | 25 | M 8X25 | 26 6
0075 50A 2 60.5 23 | 25 | M 8X25 | 26 6
0080 65A 2 76.3 26 | 25 | M10X30 | 26 6
0094 80A 3 89.1 26 | 25 | M10X30 | 26 6
0107 100A 4 114.3 26 | 25 | M10X30 | 26 6

17%




